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BT I T 7 P8 XL SR T i S ~ rp e X B B i 54 1]

THEX Sy« TH - FERI - HH50 B PO B B G AT & # i E (A5
Wk SRR
HLETX
= 1 62, 809, 330
MR L T
e
= 1 24, 881, 031
AT
= 1 21, 751, 590
A L) ORI C-40
m3 118 11, 380 1, 342, 840
A L) A 200~500kg/{F
WHHL Y
m3 1,100 13, 189 14, 507, 900
¥BrR L T
m2 1, 350 4,371 5, 900, 850
Vedmpi Ik 1T
= 1 1,692, 416
TAT7V Ny N g vy b (FLdH Z447") t=50mm 8.0
mX5. 5m
m2 704 2,404 1,692, 416
W Y UBA IR T
= 1 1,437, 025
W B 11 R Sl 2, 940N/3cmbl b
m2 1,175 1,223 1,437, 025
MR LT T
ANLV-7
= 1 8, 990, 690
AT
= 1 8, 990, 690
a0 L) A 200~500kg/fF
WHHL Y
m3 210 13, 189 2, 769, 690
¥BrR¥L L
m2 1, 000 6,221 6,221, 000
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| i E (A5
303y NN
e

= 1 17, 036, 838

3= VAT

= 1 17, 036, 838
Wiy ) =7 ny s REA
& 286 2,220 634, 920
Wiy ) =b7 ny i@k (b2 k) 5.5t &% 11. 0tLLF FiA A - fof
) 1{#E 0. 5kmPA F
& 286 2, 258 645, 788
R/ ) =87 ny ) ARf )
& 286 2,037 582, 582
Wy )= b7 ny s HEAT (Mg E) BERST 0y T.5t& A 12.5tLLF
A=A YN
& 412 36, 829 15, 173, 548
MR ER AR T
ANLV-7
= 1 8, 483, 200
3= VATV
= 1 8, 483, 200

W) =b7 " ny ) iE R (L) 2.5t & A5, 5tLL T FHiA A - ff ]
2@ 9. 5kmPA T

& 320 3,793 1,213, 760
W) ) =87 ny ) ARf ) 2.5t &8 %5, 5tLL T

& 320 1,695 542, 400
Wy )= b7 ny s ¥4 (Mg ) BT 0y 4.5tLAF 7oy s

N
& 320 21, 022 6,727, 040
&S E T
= 1 2,625, 810
BERSARIE M= 1

= 1 2,625, 810
EEat e 200~500kg/ 1

m3 200 6, 184 1, 236, 800
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
BEZET wy 3= 2t
& 70 19, 843 1, 389,010
[fTan
= 1 791, 761
THAERK T
= 1 677, 549
Hpk bR 22X 1,524 X6, 096 (mm) FHE -
= 1 677, 549
A B L
= 1 114, 212
AR FE AR B
= 1 114, 212
B T HE
= 1 62, 809, 330
BTl TE:
= 1 29, 964, 435
B ST ¢
= 1 24, 927, 542
TR
= 1 7, 096, 546
IR T
= 1 519, 054
VEEME 2 WITE
= 1 1,661, 544
B I A i UL RRE)
=] 2 35, 281 70, 562
ik
= 1 4, 845, 386
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
e 2y
= 1 6, 980, 309
BN ()
= 1 6, 980, 309
TRt
= 1 10, 173, 240
2R
H 88 115, 605 10, 173, 240
BUGERRYGEE (5 1)
= 1 677, 447
MR R (B L)
= 1 5, 036, 893
Wi
= 1 92, 773, 765
BTk X=giiv oy
= 1 22, 228, 878
R 5]
= 1 159, 035, 740
— e
= 1 24, 964, 260
Tk
= 1 184, 000, 000
THE B 2 %8
= 1 18, 400, 000
TG
= 1 202, 400, 000
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THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
Wk SRR
ELTX
= 1 28, 589, 561
303y NN
= 1 25, 721, 600
3= VATV
= 1 25, 721, 600
W) =b7 " ny s B4R MEAR7 ny) 77wy fEEE (EE &) 4.
073 t
& 320 78,416 25, 093, 120
W) ) =87 ny I REA M7 ny) 4t
& 320 1,964 628, 480
e
= 1 2,867,961
THAERK T
= 1 2,052, 161
Rk bR 22X 1,524 X6, 096 (mm) FEE -
= 1 2,052, 161
A B L
= 1 815, 800
AR B
= 1 815, 800
EPE L
= 1 28, 589, 561
B ST ¢
= 1 5,661, 511
BTl E:
= 1 2, 388, 180
TR
= 1 1,573, 844
—_ 5 —_
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
IR T
= 1 1,573, 844
BUGERRYCEE (5 1)
= 1 814, 336
HimEp R (FE L)
= 1 3,273, 331
Wi
= 1 34, 251, 072
BTk X=giiv oy
= 1 9,782,025
R 5]
= 1 44, 033, 097
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